Fee Structure for (2024-25) PRE-NURSERY

DETAILS	APRIL - JUNE	JULY - SEP	OCT - DEC	JAN - MAR
Admission Fee (New Admission Only)	16000	NIL	NIL	NIL
Monthly/Tuition Fee	3600 X 3 months = 10800	10800	10800	10800
Activity fees (Yearly)	7400/ 4 quarters = 1850	1850	1850	1850
Annually Charged Fees	6800/4 = 1700	1700	1700	1700
Transport fee	As per current input price	As per current input	As per current input	As per current input
According to the respective kms		price	price	price

Fee Structure for (2024-25) NURSERY

DETAILS	APRIL - JUNE	JULY - SEP	OCT - DEC	JAN - MAR
Admission Fee (New Admission Only)	16000	NIL	NIL	NIL
Monthly/Tuition Fee	3600 X 3 months = 10800	10800	10800	10800
Activity fees (Yearly)	7400/ 4 quarters = 1850	1850	1850	1850
Annually Charged Fees	6800/4 = 1700	1700	1700	1700
Transport fee	As per current input price	As per current input	As per current input	As per current input
According to the respective kms		price	price	price

Fee Structure for (2024-25) LKG

DETAILS	APRIL - JUNE	JULY - SEP	OCT - DEC	JAN - MAR
Admission Fee(New Admission Only)	16000	NIL	NIL	NIL
Monthly/Tuition Fee	3600 X 3 months = 10800	10800	10800	10800
Activity fees (Yearly)	7400/ 4 quarters = 1850	1850	1850	1850
Annually Charged Fees	6800/4 = 1700	1700	1700	1700
Transport fee	As per current input price	As per current input	As per current input	As per current input
According to the respective kms		price	price	price

Fee Structure for (2024-25) UKG

DETAILS	APRIL - JUNE	JULY - SEP	OCT - DEC	JAN - MAR
Admission Fee(New Admission Only)	16000	NIL	NIL	NIL
Monthly/Tuition Fee	3600 X 3 months = 10800	10800	10800	10800
Activity fees (Yearly)	7400/ 4 quarters = 1850	1850	1850	1850
Annually Charged Fees	6800/4 = 1700	1700	1700	1700
Transport fee	As per current input price	As per current input	As per current input	As per current input
According to the respective kms		price	price	price

Fee Structure for (2024-25) 1st

DETAILS	APRIL - JUNE	JULY - SEP	OCT - DEC	JAN - MAR
Admission Fee(New Admission Only)	16000	NIL	NIL	NIL
Monthly/Tuition Fee	4000 X 3 months = 12000	12000	12000	12000
Annually Charged Fees	6800/4 = 1700	1700	1700	1700
Activity fees (Quarterly)	7600 / 4 quarters = 1900	1900	1900	1900
Transport fee	As per current input price	As per current input	As per current input	As per current input
According to the respective kms		price	price	price

Fee Structure for (2024-25) 2nd

DETAILS	APRIL - JUNE	JULY - SEP	OCT - DEC	JAN - MAR
Admission Fee(New Admission Only)	16000	NIL	NIL	NIL
Monthly/Tuition Fee	4000 X 3 months = 12000	12000	12000	12000
Annually Charged Fees	6800/4 = 1700	1700	1700	1700
Activity fees (Quarterly)	7800 /4 quarters = 1950	1950	1950	1950
Transport fee	As per current input price	As per current input	As per current input	As per current input
According to the respective kms		price	price	price

Fee Structure for (2024-25) 3rd

DETAILS	APRIL - JUNE	JULY - SEP	OCT - DEC	JAN - MAR
Admission Fee (New Admission Only)	16000	NIL	NIL	NIL
Monthly/Tuition Fee	4050 X 3 months = 12150	12150	12150	12150
Annually Charged Fees	6800/4 = 1700	1700	1700	1700
Activity fees (Quarterly)	7900 /4 quarters = 1975	1975	1975	1975
Transport fee	As per current input price	As per current input	As per current input	As per current input
According to the respective kms		price	price	price

Fee Structure for (2024-25) - 4th

DETAILS	APRIL – JUNE	JULY - SEP	OCT - DEC	JAN - MAR
Admission Fee (New Admission Only)	16000	NIL	NIL	NIL
Monthly/Tuition Fee	4050 X 3 months = 12150	12150	12150	12150
Annually Charged Fees	6800/4 = 1700	1700	1700	1700
Activity fees (Yearly)	8500 / 4 quarters = 2125	2125	2125	2125
Transport fee	As per current input price	As per current input	As per current input	As per current input
According to the respective kms		price	price	price

Fee Structure for (2024-25) - 5th

DETAILS	APRIL - JUNE	JULY - SEP	OCT - DEC	JAN - MAR
Admission Fee (New Admission Only)	16000	NIL	NIL	NIL
Monthly/Tuition Fee	4050 X 3 months = 12150	12150	12150	12150
Annually Charged Fees	6800/4 = 1700	1700	1700	1700
Activity fees (Yearly)	9350/ 4 quarters = 2337.5	2337.5	2337.5	2337.5
Transport fee	As per current input price	As per current input	As per current input	As per current input
According to the respective kms		price	price	price

Fee Structure for (2024-25) - 6th

DETAILS	APRIL - JUNE	JULY - SEP	OCT - DEC	JAN - MAR
Admission Fee (New Admission Only)	16000	NIL	NIL	NIL
Monthly/Tuition Fee	4100 X 3 months = 12300	12300	12300	12300
Annually Charged Fees	6800/4 = 1700	1700	1700	1700
Activity fees (Yearly)	8850/4 quarters = 2212.5	2212.5	2212.5	2212.5
Transport fee	As per current input price	As per current input	As per current input	As per current input
According to the respective kms		price	price	price

Fee Structure for (2024-25) - 7th

DETAILS	APRIL – JUNE	JULY - SEP	OCT - DEC	JAN - MAR
Admission Fee (New Admission Only)	16000	NIL	NIL	NIL
Monthly/Tuition Fee	4100 X 3 months = 12300	12300	12300	12300
Annually Charged Fees	6800/4 = 1700	1700	1700	1700
Activity fees (Yearly)	10550/4 quarters = 2637.5	2637.5	2637.5	2637.5
Transport fee	As per current input price	As per current input	As per current input	As per current input
According to the respective kms		price	price	price

Fee Structure for (2024-25) - 8th

DETAILS	APRIL - JUNE	JULY - SEP	OCT - DEC	JAN - MAR
Admission Fee (New Admission Only)	16000	NIL	NIL	NIL
Monthly/Tuition Fee	4100 X 3 months = 12300	12300	12300	12300
Annually Charged Fees	6800/4 = 1700	1700	1700	1700
Activity fees (Yearly)	10550/4 quarters = 2637.5	2637.5	2637.5	2637.5
Transport fee	As per current input price	As per current input	As per current input	As per current input
According to the respective kms		price	price	price

Fee Structure for (2024-25) - CLASS -9

DETAILS	APRIL - JUNE	JULY - SEP	OCT - DEC	JAN - MAR
Admission Fee (New Admission Only)	16000	NIL	NIL	NIL
Monthly/Tuition Fee	4400 X 3 months = 13200	13200	13200	13200
Annually Charged Fees	6800/4 = 1700	1700	1700	1700
Activity fees (Yearly)	9500/ 4 quarters = 2375	2375	2375	2375
Transport fee	As per current input price	As per current input	As per current input	As per current input
According to the respective kms		price	price	price

Fee Structure for (2024-25) - CLASS -10

DETAILS	APRIL - JUNE	JULY - SEP	OCT - DEC	JAN - MAR
Admission Fee (New Admission Only)	16000	NIL	NIL	NIL
Monthly/Tuition Fee	4400 X 3 months = 13200	13200	13200	13200
Annually Charged Fees	6800/4 = 1700	1700	1700	1700
Activity fees (Yearly)	9500/ 4 quarters = 2375	2375	2375	2375
Transport fee	As per current input price	As per current input	As per current input	As per current input
According to the respective kms		price	price	price

Fee Structure for (2024-25) - CLASS -11

DETAILS	APRIL - JUNE	JULY - SEP	OCT - DEC	JAN - MAR
Admission Fee (New Admission Only)	16000	NIL	NIL	NIL
Monthly/Tuition Fee	4800 X 3 months = 14400	14400	14400	14400
Annually Charged Fees	6800/4 = 1700	1700	1700	1700
Activity fees (Yearly)	6600 / 4 quarters = 1650	1650	1650	1650
Subject Wise Monthly Practical fees	Chemistry = 400, Physics = 400, Biology = 400, PhyEdu = 400, Music = 400, Fine Arts = 400,			
	Computer = 500			
Transport fee	As per current input price	As per current input	As per current input	As per current input
According to the respective kms		price	price	price

Fee Structure for (2024-25) - CLASS -12

DETAILS	APRIL - JUNE	JULY - SEP	OCT - DEC	JAN - MAR
Admission Fee (New Admission Only)	16000	NIL	NIL	NIL
Monthly/Tuition Fee	4800 X 3 months = 14400	14400	14400	14400
Annually Charged Fees	6800/4 = 1700	1700	1700	1700
Activity fees (Yearly)	6600 / 4 quarters = 1650	1650	1650	1650
Subject Wise Monthly Practical fees	Chemistry = 400, Physics = 400, Biology = 400, PhyEdu = 400, Music = 400, Fine Arts = 400,			
	Computer = 500			
Transport fee	As per current input price	As per current input	As per current input	As per current input
According to the respective kms		price	price	price